M10x100 - 4ks

M12x70 - 2ks (A) - ) PP10 - 4ks
M12x90 - 2ks (I} f@ ﬂ}g;tz (A1) ( PP12 - 2ks (A, 1) P11 - 4ks R21x44 - 4ks
M12x19 - 3ks (C) ; PP12 - 4ks (C) _

M12x21 - 1ks (C)

DETAIL

MODEL 2012-

MI12x%19 - 3ks
MI12x21 - 1ks

M12%70 - 2ks

| RENAULT CLIO A
AlC 325243 Kod: ROBO7(ALC) 14.1.2013




